
 PART NO Description

AC042 Data Plate Trailer 165 X 75mm

AC092 Rags 5kg

BC001 F&J Male Couplings

BC002 F&J Male Coupling Operating Plug

BC004 Brake Coupling Short Stem Valve

BC004-B Brake Coupling Long Stem Valve

BDB001-B BPW Brake Drum 420 x 180 Dual Wheel (P/I Type)

BDH004-C Brake Drum HF PE 420 x 180 (TD403)

BF004-10 Quick Coupler 10mm

BF004-12 Quick Coupler 12mm

BF004-6 Quick Coupler 6mm

BF004-8 Quick Coupler 8mm

BH001-D Rubber Brake Hose 1/2"

BO001-C Brake Booster Type 24/30

BUG001 Spring Bush White

CL004 Hose Clamp 14-27mm

CR003-1800 Chevron Fully Reflective 1800mm

CR005 Chevron Fully Reflective 1800mm (Decal)

EL068 Truck-Lamp LED - Number Plate Light

EP010 Electrical Cable 5 Core 0.8mm

EP012 Electrical Plug 7 Pin Female

EP013 Electrical Plug 7 Pin Male

EP022 Trail-Link E/Suzi 7 Pin SA (Moulded)

GC001-48 Grease Cap 48mm

GC001-52 Grease Cap 52mm

GC001-62 Grease Cap 62mm

HEL-EL003 Hella LED - 4" Combo Lamp

HUB003-E BPW Hub Assy 10 Stud Eco Plus 10t (P/I Type)

HUH005 HF Hub Assy Propar (PE)

HY002 Hydraulic Coupling 1/2" Ball Type Male

HY002-B Hydraulic Coupling 1/2" Ball Type Female

JP147 Trailer Coupling Burquip

JW001-48 Jocky Wheel 48mm

JW001-60 Jockey Wheel 60mm (8" Double Wheel)

JW002-48B Jockey Wheel Clamp 48mm

JW002-60 Jockey Wheel Clamp 60mm

LB001 Light Box Metal 1 Hole

LB002 Light Box Metal 2 Hole

LH001 Licence Holder Single

LH005 Lisence Disc Holder - Rnd(Bolt On)

LS006-BA Load Lock Strap White 6m (25mm) & Ratchet Set

LS006-D Load Lock Strap White 6m (38mm) & Ratchet Set

LS009-F Load Lock Strap - White - 9m (3.2t)

LU021-20 Megalube Hydraulic Oil 68 20l

LU102-15 Megalube W/B Grease Lithium EP2 Complex 15kg

MG013 13 Mudguard Single U/Galv

MG014 14 Mudguard Galv Single Wheel

Vulc It Part List 



MG016 15 Mudguard Galv Single Wheel

OS001 Oil Seal HF/Swift/Samtor

RF003 Reflector Stick-On Amber

RF003-B Reflector Stick-On Red

RF003-C Reflector Stick-On Clear

RF004 Reflective Tape - 3M - Yellow

RT001 Ratchet & Tail (Aluminium Handle)

SH001 Suzi Air Hose (Sabs Approved) Red

SH001-B Suzi Air Hose (Sabs Approved) Yellow

SM002 Spring Mount Kit 40mm Rnd

SM004 Spring Mount Kit 45mm Sq

SN007-B Wheel Nut M12 x 1.5 (Light Duty Trailer)

SN007-C Wheel Nut M14 X 1.5

SN007-H Wheel Nut M22 x 1.5 With Collar Washer

SSG001-10 Spring 10 Blade 27

SSG001-4 Spring 4 Blade 27

SSG001-5 Spring 5 Blade 27

SSG001-6 Spring Pack 6 Blade 27"

SSG001-8 Spring Pack 8 Blade 27" (1500kg)

ST006 Wheel Stud M12 x 40 To Fit Light Duty Trailer

ST008-14 Wheel Stud M14 X 1.5

ST009 Wheel Stud M12 X 24

STB002AS BPW Wheel Stud Assembly Press-In 89mm

STH001 Wheel Stud HF Propar

UBG003 U-Bolt M10 X 50 X 130 (40mm Rnd)

UBG004 U-Bolt M12 X 160 X 50 (Rnd)

UBG009 U-Bolt M12 X 50 X 140 (45mm Sq)

UBG010 U-Bolt M12 X 50 X 165 (50mm Sq)

WBH001-B Wheel Bearing 518445 (Timken)

WK002 Kit 2 (30205 & 30206 & 38 X 62 X 07)

WK003 Kit 3 (30206 & 30208 & 48 X 80 X 10)

WK004 Kit 4 (30205 & 32007 & 42 X 62 X 07)

WRQ026 Wheel Rim & Tyre Combo 14" 5/114 (195)

WRQ058 Tyre And Rim Combo 14 6/140

WRQ081 Wheel Rim 13 4 Stud & Tyre Combo

WT001 Warning Triangle - Light Duty

WT004 Warning Triangle Small


